1) Vypočítej zpaměti:
a) 0,3 . 0,2 =			b) 0,03 . 0,2 =			c) 0,3 . 0,02 =
d)  0,03 . 0,02 =			e) 0,003 . 0,2 =			f) 0,03 . 0,002 =

2) Vypočítej zpaměti:
a) 0,5 . 0,07 =			b) 1,1 . 0,6 =			c) 0,9 . 0,003 =
d)  0,04 . 0,8 =			e) 0,06 . 0,05 =			f) 0,4 . 0,5 =
g) 0,12 . 0,7 =			h) 0,035 . 0,2 = 			i) 1,2 . 1,2 =

3) Vypočítej zpaměti:
a) 23,8 . 0,1 =			b) 78,3 . 0,01 =			c) 12,7. 0,001 =
d) 7,9 . 0,01 =			e) 5,42 . 0,1 =			f) 3,33 . 0,001 =
g) 0,68 . 0,001 =		h) 0,9 . 0,0001 = 		i) 0,05 . 0,0001 =
